
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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9 + 25 = 34
√34 = 5,83
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81 + 16 = 97
√97 = 9,85

3)

C

5
5

25 + 25 = 50
√50 = 7,07
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100 + 49 = 149
√149 = 12,21
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100 + 1 = 101
√101 = 10,05
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16 + 64 = 80
√80 = 8,94
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36 + 25 = 61
√61 = 7,81
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16 + 100 = 116
√116 = 10,77
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36 + 1 = 37
√37 = 6,08

10)
C
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4 + 64 = 68
√68 = 8,25

11)
C2

10

4 + 100 = 104
√104 = 10,2

12)

C
10

9

100 + 81 = 181
√181 = 13,45

1. 5,83

2. 9,85

3. 7,07

4. 12,21

5. 10,05

6. 8,94

7. 7,81

8. 10,77

9. 6,08

10. 8,25

11. 10,2

12. 13,45

     

Trova il valore di 'C' arrotondando la tua risposta alle centinaia più vicine.

Applicare il teorema di Pitagora
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